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~ - Composition of Transformations

Find the resulting images of the following. Assume all rbtations are clockwise, unless stated otherwise.

1.

The point (3, -2) is rotdted 90%"about thé origin and then dilated by a scale factor of 4. What are the

coordinates of the resulting image? ° _ -
EQ’* U‘ . R"%;‘QD )
What is the image of point (4, 2) after the c’om'position of transformations by rotating 90° and then reflecting
the image about the y = x line? _
y =X — ~4 ( Q

What is the image of point (1, 1) under the transformatlon of reflecting about the x-axis and then rotating 90°%n4

-E"—\thw-
then dilated by a scale of 37 Y-oxis —y (1y~\)

A0%> (=1, =1)
D&Q 3 S F(j, '3))

What are the coordmates of pomt A’, the image of point A(-4, 1) after the compdsition transformation of
rotating 270° c_ounter—clockW|se and reflecting about the y = x line where the origin is the center of rotation? S

270°ce —» (1,4)
Y=% —> |(41)

The coordinates of AJRB are J(1, -2), R(-3, 6) and'B(4, 5). What are the coordinates of the vertices of its image
after the transformation of a translation (x+2, y—1) and then a reflection about the y-axis?

- JC-K'V:J %.,\> _.5 (3 "3_)(_"‘ S) C(o L()
yoes (G353 (19, e |

. If the coordinates of point P-are (2, -3), then whafc is the resulting image after rotating the point 180°andthen. . _

rotating it again 90°?. | l%OD — ( -2 ! 5)

d> — (CBQZ) 2

Find the coordinates of reflection about the y-axis and then reflecting about the y = x line if the coordinates of

the original point are (6, 1). \/’@\LI S (__ (91 \ _>

9=X C\l‘(‘”)g

Find the coordinate of the image of (2, 4) under the transformation of a reflection about the y-axis and then a

translation of the figure using (x + 3, y —5). %
s > (-2 q)

(3, 4=~ (C1, D) |




9. What is the image that results from the composition of transformation of reflecting about the x-axis and then

XoONAS < ‘51 O)
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rotating 90° counter-clockwise the point (-3, 0)?.

10. Find the coordinates of point N{-1, 3) ﬁﬁderﬂ the éﬁmpbsition of reflecting about the y-axis and then rotating 90°.
Y-0xis (13
q O \ (3 ’ \J { CT

11. If the coordinates of A are (2 3) wha!t are the coordinates of A’, the image of A after a rotation of 270°
counter-clockwise and then a reflection about the y- axns? ]

noee. (3-2)

12. If the coordinate’s of B are (1, -5], what aré the coordinates of B’, the image of B after a rotation of 90° and then
. . 2R - i
a reflection about x-axi$, and then a rotation of 180°?
| Q0 - (s,

- LB\ S,—1)

13. Find the image of point A(3, 2) uhder the composmon of translations (x¥2Z;

then a reflection about the origin. ( e l-d .\—\) - C5 - \)
Oclo, =9 (<1, -8)
ot Ny N

14. What coordmate would result if the beglnnlng point is (3, 2) if there wasare ection about the y-axis and then a
180° rotation? '

L= = g ______lé.a,mg > ( -3,2)

(x-y ot (3] -

15. Write a single translation that is equivalent to the transformation (x + 3, y — 1) followed by (x—5, x + 5).
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